Class - 6 Ch - 6 Exercise - 6.3



Question 1.

State which of the following fractions are proper,

improper or mixed:

L 15 P
Uy (if) 13
W i
(iii) 53 (iv) g
s \ 7
(v) Il7 (vi) g
(vii) 333 (viii) 547
Solution:
15 B |
(7) v Proper  (ii) T improper

2
(iii) 5'3' = Mixed

(v)] l% = Mixed

o S8R
(vii 333 Proper

6
(iv) 3 = Proper

117
(vi) 3 - Improper

531
(viii) -557- = |mproper



Question 2.
Convert the following improper fractions into mixed

numbers:
)7 o 119
() 3 (i) 73
%61 LY
(i) 33 (V) 33
Solution:
17 2 119 14
o = B B e i Wi
03 53 () 73 15
961 12 117 21
1y === 10 v) == = 3=
(i) 73 13 V) 33 =°%
Question 3.
Convert the following mixed number into improper
fractions:
2 5
L -
() 11 () 348
—— a il
(iii) 1364 (iv) ?3
Solution:
2 1Ix74+2 79
¥ 7__'__ BB
DT THERET
y 3_5_ _ 48x3+5 _ 149
) 278 as a3

o3 L S4xI3+47 _ 83247 839
B G="a ~ & &




Question 4.
Write the fractions representing the shaded regions.

Are all these fractions equivalent?
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Yes, all the fractions are equivalent.

Question 5.
Write the fractions representing the shaded regions
and pair up the equivalent fractions from each row:

(d) (e)




Solution:

| 4 2 3
“JE (u)ﬁ=-3 [hr]‘}#}
21 3

[:L-‘_IE:E (\"}4
4 1 8 2 12 3
@ % =3 ®) 3 =3 ©) 5=
4 1 6 _1
@3=3 ©35=3

Equivalent fractions are:
(i) had (d)
(if) had (b)
(iil) had (€)
(iv) had (3)
(V) had (C)

Question 6.

15
(i) Find the equivalent fraction of 35 with denominator
/.
(ii) Find the equivalent fraction of § with denominator
63.

Solution:

19—
()35 — 7

Let the numerator be a
= 15x7=35%3




2

(i)9 = 63
Let the numerator, which needs to be calculated as x
=>2xXx063=90xX
N g = 2><963
=>x=14
i—
.9 T 63
Question /.

Find the equivalent fraction of% having

(i) denominator 30

(i) numerator 27.

Solution:

(i) ; having denominator 30

Multiply and divide the fraction by 6, we get
2 x 2 =43

576 30

(ii) 5 having numerator 27

Multiply and divide the fraction by 9, we get

3.9 _ 91
5 X0~ 15



Question 8.

Replace ... in each of the following by the correct

number.

4 ..2.=.l
) 3775

a4 _12
T

Solution:

2
m;=

Hence ".." is replaced by 10
Tx6

7
(if) T =—

42

70

2x5 10
Ix5 15

() 18 = T8x6 _ 108

() 7= 154

Hence ".." is replaced by 108

4x3 12

o
(iii) s~

Hence '..." is replaced by 5

Sx14
11x14

, 5
(iv) T

Hence '..." is replaced by 5

5x3 15




Question 9.
Check whether the given pairs of fractions are

equivalent:
V31 3 30
M 70" 20 () 3+ 38
an 2 0 o g
Ui 5+ 20 ™) 1301
Solution:
1312
TR
=3 x40=120
=10x12=120
120 =120
. The gi fracti X ; d E
s ¢ given fractions 10 an 20 are
equivalent.
5 30
AT
=5 x 48 = 240
=30 x 8 = 240
240 = 240
+ The given fractions = snd 7o
e e given fractions 8 an a8 are

equivalent.



4 30

(iir) 5° 20
=4 x20=80
=6 x 30= 180
80 = 180

4 30

~. The given fractions F- and 30 2re not

equivalent.

e ot B

V) 13 1
=7x11=177
=5x13=65

77 # 65

7 5

. The given fractions 3 and 17 are not

equivalent.



Question 10.
Reduce the following fractions to simplest form:

- o 150
() 55 (i) 355
18 | i 276
(m) Iy 115
Solution:
L 12 12+3 4
D37 =77:37 9

150 _ 150+50 _ 3
") 350 T 350+50 7

18 18:9 2
(i) 31 = 8129 ~ 9

216 276:23 12
(V) e =T = o

1S 115+23 5



Question 11.
Convert the following fractions into equivalent like
fractions:

7 5 s 7

M 37 () §' 76

37
6' 8

| w

(i) <, 2

Solution:

7 5
(:7;.1—4

The LCM of 8 and 14
2 8,14

7
To write — with denominator 56, multiply

8

the numerator and denominator by 7

Tx7 49

8x7 56
g 5 _ Sx4 20

imiany: 14 " 14x4 56
Th L 2 be 4—9 d
us, g+ 7z can written as 56

20
56 respectively which are equivalent like

fractions.



5 7
W % 16

The LCM of 6 and 16

o))

w| L L o

-

| & (00| —

W 1 12|03 0

-—o:‘)
—

>

2x2x2x2x3=48

5
To write = with denominator 48, multiply

6

the numerator and denominator by 8

- 5x8 - 4_0

~ 6x8 48
Sirnilard ' 7x3 21
Imiary: 16 = 16x3 48

s 7 40 21

Thus 6' 16 can be written as a8’ a8

respectively with equivalent like fractions.
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3 35
)z, %,
The LCM of 4, 6 and 8
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=2x2x2x3=24

3
To write I with denominator = 24 we need

to multiply numerator and denominator by 6

3 6 18

4 6 24

5 7
Similarly 3 and g can be written as

Hence 1 *5- I be wri -~
'4'6'8““ wnttenas24,

0021
24" 24 respectively.

Which are equivalent like terms.






